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Assignment 1

This assignment is graded out of 6] marks. No-books, notes or cell phones are allowed. You must show all your work, the correct
answer is worth 1 mark the remaining marks are given for the work. If you need more space for your answer use the back of the page.

Question 1. Fmd the equatlon of the plane passmg th_tought the points: Pi(1,2,3), A(-2,0,~1), B(0,—1,0).
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Questionz). Determine if the two planes are parallel: 2x+-y—z =101 and x4 2y —z= ~101.
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Question 3. Determine 1f the two planes are perpendicular; 2x —z = 101 and 2p = —101.
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Questiont} Determme 1f the line and the plane are perpendicular: (x,y,z) = (1,2,2)+#(2,—1,2) and —4x+2y — 4z = 103.

a lme and = la/a.mc are IOtV/%ndb&l/éal’ it the novmal and
ﬂat diection veclsy ave a muét///e of the olhev. ;

e R gd,3,4) 3= @®,1,3) s —;d

a'the (me aud “bl/tﬁ }a[émt ave
' p-w,?tndl';au(av




Question 5 Find the equation of the line passing through the given points: P, (8,—3,4) and P, (2,1,2).
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Question E Find the equation for the line of intersection of the given planes: —x+2y—z =3 and 2x — y+3z=4.
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Question 7. Find the équation of the plane that passes throu.ght the point (2, —-3,.4) and is parallel to the plane 2x —y —é —-301=0
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Question £. Find an equation for the plane through (3,4, 3) that is perpendicular to the line of intérsection of the planes 2x— y+
-5z=1and —3x+y-+4z=3. ' . ‘z=t since z 135 & frecvaviable
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Question q Find the intersection of the line (x,,2z) = (1,2,1)+1(—2,0, 1)-and the plane x — y+ 3z = 6. . ) .
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